IHRR = 2

B AN =5 — FEHEEGEAE

/

HEERKHTE Sf % A H
(FIEEEAN)
S ENIND
K4 PR G- B A AT
E
A H H P B
EEGiEiSke)

A, EFREAE S — R HGEEDN, BT LIEEEOEHE LR - A TH L Z L2t L £7°,

(& RBELAGEHL)

KA

RN E DB

a7




AB

FESIRORHTT R kR

(FEEEAN)

RFROBHRZECA L TES)

K4

{ERT

A4 H H

1]

N
sy

R AL

IHRR = 2

af £ A H

REEEAND
ECA=NIR T

RFRDEATRZ
iy LU CTL<EE

B 6 7 BYURICIRR
IE@E. iIg. BSR0DBD
#it4.5cm X #3.5cm

A, EFREAE S — R HEEED, BT LIZEEOE LF—- AW THLHZ L2 L £,

(& RBELAGEHL)

RITMODICKTNEESBEESDS (RXIEE) O
BIRZEA LT IZEV, BEEARETY,

KA

RN E DB

a7




